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(1) ZEhet(v) YTHOEREICEY v = 10 %
(2)E A58 (m)
_ 1-SL _ 2
mi = . 5.7 = 30.0 N/mf
100
Xo>T m = 30.0 N/mf
(3)KkEAV FEE(W/C) m = -11.8 + 23.5 X C/W
W/C = 23.5 = (30.0 + 11.8) X 100 = 56.0 % = [60% (_E[Rf#) ]
SW/C = 56.0 %
(4) HfrK & (W) WTHOFEFKICEY W = 155 ke/mi
(5)HfSrE A F&E(C) C =W + (W/C) X 100 = 155 = 56.0 X 100 = 277 kg/m
Cv= c+%rg:277+3.04:91 £ /m
(6) 7558 (A) A = 4.5 % X 1000 = 45 £ /m
(7T)EM=E(s/a) MTHEOFEEICEID s/a = 43.5 %
() WA MIEFEME(S) Sv = (1000 — (W+Cv+A)) X s/a = 709 X 43.5 % = 308 #/m
S = Sv X i%;izz‘w}f;% = 308 X 2.58 = 795 kg/mi
S1 =S X 60.0 % = 477 kg/m
S2 =S X 40.0 % = 318 ke/m
(9) BHALH M & (G) Gv = 1000 — (W+ Cv+Sv+A) = 1000 — 599 = 401 #/m
G = Gv X EEEE = 401 X 2.70 = 1083 kg/m
Gl = G X 45.0 % = 487 kg/m
G2 = G X 20.0 % = 217 ke/m
G3 = G X 35.0 % = 379 ke/m
(10) EAZIRFAIE (Ad) Ad = C X I X BE = 277 X 0.8 % X 1.00 = 2.22 kg/m
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